
C2 : ALGEBRA AND FUNCTIONS 

1)




       f(x) = px3 + 6x2 + 12x + q.

Given that the remainder when f(x) is divided by (x – 1) is equal to the remainder when f(x) is divided by (2x + 1),

(a)
find the value of p.





                   (4)


……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………


Given also that q = 3, and p has the value found in part (a),

(b)
find the value of the remainder.








 (1)

……………………………………………………………………………………………………………………………………………………………………………………………………………………....................................................................................................................................................................
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2) 





f(x) = x3 – 19x – 30.

(a)
Show that (x + 2) is a factor of f(x). 

(2)

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

(b)
Factorise f(x) completely.








(4)

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
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3) 



f(n) = n3 + pn2 + 11n + 9, where p is a constant.

(a) Given that f(n) has a remainder of 3 when it is divided by (n + 2), prove that p = 6 . 

(2)


…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..

(b) Show that f(n) can be written in the form (n + 2)(n + q)(n + r) + 3, where q and r are integers to be found. 

(3)

…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..

(c) Hence show that f(n) is divisible by 3 for all positive integer values of n. 

(2)


………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..
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Did your score match your estimated ‘success level’ ?

	Skill
	Qu
	(
	(
	(

	I can use the Factor Theorem     
	
	
	
	

	I can use the Remainder Theorem     
	
	
	
	

	I can factorise cubics
	
	
	
	


             ( Yippee!! - I got all the questions correct.

             ( I got most of the questions correct.
                 ( I made too many mistakes and need to practise this topic more.

	Top 3 topics I need to study further are:

	


Score:		Percentage:			Grade:		    Effort:








Low                 High


 O     O     O     O	





Overall, for this assessment I think my success level is: 
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